
https://www.certbus.com/accp-v6-2.html
2024 Latest certbus ACCP-V6.2 PDF and VCE dumps Download

 

 

 

ACCP-V6.2Q&As

Aruba Certified Clearpass Professional v6.2

Pass Aruba ACCP-V6.2 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.certbus.com/accp-v6-2.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Aruba
Official Exam Center

 

 

Latest ACCP-V6.2 Dumps | ACCP-V6.2 Study Guide | ACCP-V6.2 Exam Questions                              1 / 10

https://www.certbus.com/accp-v6-2.html
https://www.certbus.com/accp-v6-2.html
https://www.certbus.com/accp-v6-2.html


https://www.certbus.com/accp-v6-2.html
2024 Latest certbus ACCP-V6.2 PDF and VCE dumps Download

QUESTION 1

Below is an Enforcement Profile that has been created in the Policy Manager: What is the action that is taken by this
Enforcement Profile? 

A. ClearPass will count down 600 seconds and send a RADIUS CoA message to the NAD device to end the user\\'s
session after this time is up. 

B. ClearPass will send the Session-Timeout attribute in the RADIUS Access-Accept packet to the User and the user\\'s
session will be terminated after 600 seconds. 

C. ClearPass will send the Session-Timeout attribute in the RADIUS Access-Accept packet to the NAD device and the
NAD will end the user\\'s session after 600 seconds. 

D. ClearPass will send the Session-Timeout attribute in the RADIUS Access-Request packet to the NAD device and the
NAD will end the user\\'s session after 600 seconds. 

Correct Answer: C 

 

QUESTION 2

Refer to the screen capture below: 
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What does the Cache Timeout Value refer to? 

A. The amount of time the Policy Manager caches the user credentials stored in the Active Directory. 

B. The amount of time the Policy Manager caches the user attributes fetched from Active Directory. 

C. The amount of time the Policy Manager waits for a response from the Active Directory before sending a timeout
message to the Network Access Device. 

D. The amount of time the Policy Manager waits for a response from the Active Directory before checking the backup
authentication source. 

E. The amount of time the Policy Manager caches the user\\'s client certificate. 

Correct Answer: B 

 

QUESTION 3

Which of the following is true about Data and Management ports on the ClearPass appliance? (Choose 2) 
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A. Configuration of the data port is optional. 

B. Configuration of the data port is mandatory. 

C. Configuration of the management port is optional. 

D. Configuration of the management port is mandatory. 

E. Static IP addresses are only allowed on the management port. 

Correct Answer: AD 

 

QUESTION 4

Which of the following devices support Apple over-the-air provisioning? (Choose 2) 

A. Laptop running Mac OS X 10.6 

B. Laptop running Mac OS X 10.8 

C. iOS 5 

D. Android 2.2 

E. Windows XP 

Correct Answer: BC 

 

QUESTION 5

A hotel chain recently deployed ClearPass Guest. A guest enters the hotel and connects to the Guest SSID. They
launch their web browser and type in www.google.com, but they\\'re unable to immediately see the web login page. 

Which of the following could be causing this? (Choose 2): 

A. The DNS server is not replying with an IP address for www.google.com. 

B. The guest is using a Linux laptop which doesn\\'t support web login. 

C. The ClearPass server has a server certificate issued by Verisign. 

D. The ClearPass server has a server certificate issued by the internal Microsoft Certificate Server. 

E. The ClearPass server does not recognize the client\\'s certificate. 

Correct Answer: AD 

 

QUESTION 6

Refer to the screen capture below: 
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Based on the Posture Policy configuration shown above, which of the following statements is true? 

A. This Posture Policy can be applied to an 802.1x wired service. 

B. This Posture Policy checks the health status of devices running Windows, Linux and Mac OS 

C. This Posture Policy can use either the persistent or dissolvable OnGuard agent to obtain the statement of health. 

D. This Posture Policy checks for presence of a firewall application in Windows devices. 

E. This Posture Policy checks with a Windows NPS server for posture tokens. 

Correct Answer: C 

 

QUESTION 7

Which of the following statements is true based on the Access Tracker output shown below? 
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A. The client wireless profile is incorrectly setup. 

B. Clearpass does not have a service enabled for MAC authentication. 

C. The client MAC address is not present in the Endpoints table in the Clearpass database. 

D. The client used incorrect credentials to authenticate to the network. 

E. The RADIUS client on the Windows server failed to categorize the service correctly. 

Correct Answer: B 

 

QUESTION 8

Which of following is true for both the persistent and dissolvable versions of OnGuard? (Choose 2) 

A. Ability to bounce the endpoint 

B. Auto-remediation is available 

C. Gather statement of health information for network authorization 

D. Supports Windows, Mac OS X devices 

E. They need to be installed on the client devices. 

Correct Answer: CD 

 

QUESTION 9

A Search was performed using Insight and the following is displayed: 

What could be a possible reason for the ErrorCode \\'Failed to classify request to service\\' shown above? 

A. The user failed authentication. 

B. ClearPass couldn\\'t match the authentication request to a service, but the user passed authentication. 
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C. ClearPass service rules were not configured correctly. 

D. ClearPass service authentication sources were not configured correctly. 

E. The NAD device didn\\'t send the authentication request. 

Correct Answer: C 

 

QUESTION 10

What does a client need for it to perform EAP-TLS successfully? (Choose 2) 

A. Username and Password 

B. Client Certificate 

C. Pre-shared key 

D. Certificate Authority 

E. Server Certificate 

Correct Answer: BE 

 

QUESTION 11

What is the certificate format PKCS #7, or .p7b, used for? 
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A. Certificate chain 

B. Certificate Signing Request 

C. Certificate with an encrypted private key 

D. Binary encoded X.509 certificate 

E. Binary encoded X.509 certificate with public key 

Correct Answer: A 

 

QUESTION 12

Refer to the screenshot in the diagram below, as seen when a Web Login Page is configured in ClearPass Guest: 
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What is the Address field value \\'securelogin.arubanetworks.com\\' used for? 

A. For appending to the Web Login URL, before the page name. 

B. For ClearPass to POST the user credentials to the NAD device. 

C. For ClearPass to send a RADIUS request to the NAD device. 

D. For ClearPass to send a TACACS+ request to the NAD device. 

E. For appending to the Web Login URL, after the page name. 

Correct Answer: B 

 

QUESTION 13

What types of files are stored in the Local Shared Folders database in Clearpass? (Choose 2) 

A. Backup Files 

B. Software image 
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C. Log files 

D. Generated Reports 

E. Device fingerprint dictionaries 

Correct Answer: AC 

 

QUESTION 14

What are Operator Profiles used for? 

A. To assign ClearPass roles to guest users. 

B. To enforce role based access control for ClearPass Guest operator users. 

C. To enforce role based access control for ClearPass Policy Manager admin users. 

D. To map AD attributes to admin privilege levels in ClearPass Guest. 

E. To enforce role based access control for Aruba Controllers. 

Correct Answer: B 

 

QUESTION 15

What must be configured to enable RADIUS authentication with Clearpass on a network access device (NAD)? (Choose
2) 

A. An NTP server needs to be set up on the NAD. 

B. A bind username and bind password must be provided. 

C. A shared secret must be configured on the Clearpass server and NAD. 

D. The Clearpass server must have the network device added as a valid NAD. 

E. The Clearpass server certificate must be installed on the NAD. 

Correct Answer: CD 
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